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Radicals: Simplifying

A radical sign looks like a check mark with a line across the top. The radical sign is used to communicate square
roots. The numbers -3 and 3 are the square roots of 9 because both -3 and 3 squared equal 9. The definition of
a square root is: if x squared =y, then x is a square root of y. Simplifying radicals assesses the ability to
perform operations with radicals.

In order to simplify radicals, it is important to understand the product property of square roots. We
already know the square root of 81 is 9. We can also determine this by the following method:

MBL=.8-./9-33-9
Simplify the square roots below:

a0 = /310 ~ 210
B0 = /4 -5 =215
+/200 =100 - /2 =102
When simplifying with variables, we can do the following:

Ja0xyT = & JI0- 5 - ofyT = 2y lOx

Af32a%c? =«f176'\/£"\1r3_2'1)'{ﬂ_2"v'{;'xfrc_z'«f;=4azc\/2;
Also, the same method can be used to simplify radicals taking the 3rd, 4th, 5th,...etc. roots.

1]1 6x5y16 - :!24.}{4.}{1 -y4-y4-y4-y4 - 2Xy4 i,r;
Y5425 = P2t b b bl = 3ab% ¥ 2ah
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